HH TH AR i3

LA D _
1 £ % (0OB£B) 55,000 | 54,000 [4000x 11, C[E&
2 [ BES® (REEE) | 50,000 | 34,500 [1,500 X 23
3 OB # 200,000 [ 208,000 |6000 X 2, 3000 X 64, 1000 X 4
4 FIE 20 0
5 RIEERESE 53,714 | 53714

& 358,734 | 350,214

X H ) FE A8 =
| [ BERESE 105,000 | 75,900
2 fTEERE 10,000 6,459
3 | EHE(E—#HEHK) | 20000 14825
4 EER EHEEF) 20,000 | 16,940
5 MEXES 60,000 | 60,000
6 |HR:AFEH 1,000 648 ]
7 |E£E{75 (20204F) #2888 | 30,000 | 30,000 FiH!)—J EFE{TE (105 %) #8L
8 |FE4F {73 (20504F) #%#% | 20,000 | 20,000 |FE')—J BAFETE (505HE) B
9 | Rk 60,000 | 60,000 |V BT
10 X BE 10,000 1,940
11 [ REEREBS 22734 | 48,702 .
12 FDh 14,800 | O—FHIZIJA—L15

SET ¥358,734| ¥350,214

X 4 DEFTEFADKA

XA DEB TR L
1 [E4E{7% (20204F) #8#% | 30,000 | 30,000 [ —F EE{TE(0FEH) AL
2 |4 {7% (20504 ) ##% | 20,000 | 20,000 [Fi#—F EE{TE (5058 BT
3 | RI VB 60,000 | 60,000 |7 EHEREST
4 FBHF 100 3
5 BIEISDREE 409,895 | 409,895

AT 519,995 | 519,898

X HO# FH (RN e
1 | BEX ﬁzgﬁ 0 0 BETEOI VMEHOBED X H
2 [#E> 0 0]
3 |B4E47H (20204F) $8#% | 160,000 | 160,000 [FHE{THE (105 8) B [3F 5§
4 |E4E {7 (20504F) #2#% | 270,000 | 270,000 |BHEE{TE G0FEE) B [25/ &
5 R EHEgH 89,995 | 89,898 YL BB EUNEE

= 519,995 | 519,898
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